BL AuToTEC QUICK-CHANGE"

Interface plate for robot flange]

¢3H] Dp5 PCDAO ’_,—/\ﬂq_[ Robot flange

QC-10B D

(QC-10B-M-K20A) pneumatic pori M3

34

to prevent the block from contacting with interface plate,

4x¢3 5 PCD40 Interface plate

4 equidistant (Note ) 24 ' (furnished by user )
Lock N . [T I 2
pneumatic port M3 Utility pneumatic ports 5XM5 | ] Bolt holes S
S
#45HT D
' Unlock (Note ) If optional electrical signal contact blocks are attached, o
Master plate 9 cut the interface plate 24mm from the center 6(
o

(37)

. o Bolt holes location A (om ) Use of seal plate
LOCk Wlthout tOUChlng 4XM3 (holes for seal plate) Qutside the O-ring% ¢35 2. 5+0. 1 Unnecessary
Inside the O-ring¥ ¢30
The Master plate can lock onto the Tool plate Thove The O gk 53095 4 540 1 Necessary
with a gap between them. L seal plate

[ T ( preassembled before shipment )

450 ~ %@‘35
. . . . #4547 :
™) 3 O-ring
Superior fail-safe locking mechanism , l 0 —_(ASSGEH0Z5 )

BL’s unique lock/unlock mechanism contains
a mechanical fail-safe feature which does not .

Q
Q,
<> -
15.5

One alignment slot

allow the Master and Tool plates to uncouple

O
S
125

ijﬁ Master plate
(QC-10B-M=K10A )

355 (coupled )

if the air pressure is shut off. i s G =) | =)
@ oM - |
el - Y
I I \
#50 Electrical signal contact blocks !
Tool plate 3AX10 contacts ( solder terminal )
(QC-10B-T-K20A) 36 Tool plate
L M (QC-T0B-T-K10A )
[e30¥e]
20058 &
Master plate Attachments - .
-4 bolts (M3x25) M A&,
+1 locating pin ~ N » ) $6HT Dp8 PCD40
' % Seal plate, O-ring and screws P / |
are pre-assembled. Al
; g 4XME Dp8 PCDAQ
A equidistant @Four bolts (M3X25mm ) and one locating pin (MSY3-15)
$25H8Dp6 are supplied with the Master plate,
( Model:QC—10B-K10A ) @The four bolts extend 7 7mm above the Master plate ( when seal plate attached ),
Load capacity (rated load) 98N (10kg) K10A _ ) 3Ax10 (solder terminal)
Positional repeatability +0.0Tmm é K20A E/llzcgf?jlé?g\fls 3Ax20 (solder terminal)
" R = X s n
Allowaple Bending direction (Tx. Ty) | 49N-m (500kgf + cm) = K10L o 3Ax10 (with Tm lead wires)
dynamic moment | Twisting direction (Tz) | 68.6N-m (700kgf - cm) K20L 3Ax20 (with Tm lead wires)
Coupling force (with air pressure of 0.49MPa) %1 | 970.8N (99kgf) MElectrical signal contact block
Materials Master plate Stainless steel
Tool plate Aluminum alloy (The lock/unlock mechanism is stainless steel.) ¢
Overall dimension (when coupled) ¢50xH38.5mm ‘m — M‘ S
- I’ ]
Weight Master plate 2459 g i‘li.. e '!T’El Sy — - E
(Main dody) Tool plate 85g ta . LI re \
Self-separating mechanism Ball-locking mechanism .
Required air pressure 0.39~0.68MPa(4~7kgf/cm?2) h
Allowable temprature and humidity ranges | 0~50"C. 35~90% (Non-condensing) K10A K20A K10L K20L
Wiiliitzs Pneumatic ports | M5x6 3A%10 (solder terminal) 3Ax20 (solder terminal) 3A%10 (with 1m lead wires) | 3A%20 (with 1m lead wires)
(Option)
et QC-10B -M- [0

(Option)
BT QC-10B -T- [ 1]

XXXA | No electrical signal

K10A | Electrical signals 3AX10 (solder terminal)
K20A | Electrical signals 3AX 20 (solder terminal) Please contact BL Autotec, Ltd. for detailed information on the options.
K10L | Electrical signals 3AX10 (with 1m lead wires)

K20L | Electrical signals 3AX20 (ith 1 lead vies) 31 Coupling force is the force to achieve specified repeatability. Coupling will be maintained until unlock pressure is applied or device is damaged.

Electric signal contact block for QC-10A is compatible with QC-10B.
Please specify the electric signal contact block when ordering.




ARy PRF7L— b

! of
4xM5RIL ~ AR 2x@5 H7:&11
458 258

AR A (BT M)

) S B

a5

SR PR

SXMARIL AT ABAHTRIT
8% 25 258

PYSIAIT

grE
b 1

50

SEREVY IMBIRIS THI NOSAT NPNEZIEPNP

QC-10B-XXXA-SP101N(P)

2x@5 H7@

pE=n) 20°_25¢ 4xM57R)L ~ IR

15.

0.5

50

QC-10B-XXXA,AP101

7XM5R)L b A7
8FECH7 v PR

IRV MBIR0S U NOSAT NENEFAEPNP MREYY IMBIRS BED NOSAT NENERIZPND

QC-10B-XXXA-SP102N(P) QC-10B-XXXA-SP103N(P)

)

ECVY I MBIRIS B3 NOSAT NPNETIAPNP

QC-10B-XXXA-SP104N(P)

8xM4R)L ~ TR
8EHD

0.5
o

c (o

QC-10B-XXXA,AP103

wp P4 H7E
@5 H7%10 %- 4xM57RJL b IR 258
A5
@
/» F’OCDsoT ’ \
045 H8E10.5
¢72
\ | o
Q c
N [L{ R A 05
[
50
QC-10B-XXXA,AP102
4xM5R)L b FBTR 8xM47R)L I AR
A5R 8HD

BLYy L gVl & o V78

10kgaI#gA— Y — )L FT >+

@49 os0
- AR o 1
0© 0,
e A N o
B [0 o od RyE={t2din-7.
?50 050
QC-10B-XXXA,AP104

QC-10B-XXXA,AP105

QC-10B-XXXA,AP106

C E=XIL - A=F7tRt =4t

T652-0883 #FHEEXENIE3T H3E175

(FAE %Y )V—7E3#) TEL:078-682-2612

(fX%®) TEL:078-682-2611 FAX:078-682-2614

RREBESEHFT 03-3562-3710 &2 h ERESEFHFT 052-857-0333
URL : https://www.bl-autotec.co.jp

% ORY MMAOEIFHCDOWTIE. FETIVEEEBYTOAMARN 180 EREZTEET,
AP101 + 102 - 103 + 105 + 106 |$A/R Y MTHEUTEE, AP104 1E< A% « 7L — FEUIEHC 180 ERETCEE T,
SP101 ~ 103 IxAR Y FEUIBE. SP104 1ZXRZ 7L — MEXES 180 ERECEE Y.
CAD T—RICDELELTIE. HPHAS A O— RAFEIRETY ., RIETHIBLEEL,

CADT—%D
B SovO—RH
g FIRECY,

g

2022.02




Bl autotec QUICK-CHANGE" axRy PRI 7L—b

ElERtyeaRy PRE7TL— b
'SP V) —X ) &felCo142Fv 7!

(QC-10B-M-K20A)

2ada Ty FIVIEZREORY MIEET RO WG T L — b OFFH EREHSFE!
- = — SeB =l
. ~ N o N Al L PPl EXETER ~FRE FIRCE !
BETEZREHLNGZWVE| EIFAR QM AN WEHESRIDBE. BRI EMLE T
3 o Bl = ~ - - d - N ~3) N
" ERER Y NEESHERECIET . SVRRICARY MM Y I F IV I HBFEVIEITET,
BEERFICTIE AR T L— eV —Ib-TL— b EHREEES
BEH NG| EIFARERA, W
V=)L TL—h
(QC-10B-T-K20A)
— o — — e 5
ARZHIVTT—IbE—THEE EETE —EE shzen Ry S
Cl —_— ==X
EREREOHEBMELELTE IR Z-TL— & e )11 p St FANUC RS007(N)(L) RV-7FR R EANUC
N2\ B = — N aRy — . =,y —_—
Vb TL— DB RS, HHIRE DB BRI &Y, IRE-TL— NFTE ;- MOTOMAN GP7/GP8 Mz07 M-10iA wEANUC Ty MZ07 M-10iA
AAZAI - TT— )t — TR A R -?ﬁma‘fi;w(mxzs)m
— BRATEY X
° B R s mpas AP101 AP102 AP103 AP104* AP105 AP106
FECBOR T RETHELET,
(7] o
HAS
7L—b
L
ARER (TREH) 98N (10kg) :lL K10A B5Es 3AX10 & (\ VA HF)
(IBEBIRMERE X1 +0.01mm ? K20A Max.3A DC50V 3AX20 A (\VAIHF)
s Bi1F 7578 (Tx.Ty) 49N-m (500kgf + cm) 7 | K10 AVRIETA=THR | 3Ax10 A (U—R4g Tm HL)
E—XVk fatyim (T2) 68.6N-m (700kgf * cm) 7 | K20L 3AX20 A (J— R 1m HL)
451 (ZKE 0.49MPa BF) 32 970.8N (99kgf) SP101 SP102
HH %25 -TL—F | Z7VLZE .
Y- TL—F | PIESeLAS ERHEEIE R L A5) (#7231
M T I (AR ¢ 50xH35.5mm WESESI V2 Tavy \ BIEA T Y3V ORI YTV EbE T, \
WOES A& - FL—F #92459
(D) Y—)b-FL—k | #3859 . o i e
HEHAE R—)bOvoAR ™ . . e w‘l\\} "
EPERIZ ST 0.39~0.68MPa (4~7kgf/cm?) . - :_;__, <] _ S pyTTT—e ol - : = Y PN N
SR - SRR 0~50°C. 35~90% (EBAECE) k X)NIFETHEMAN SR WA AZOKRY b duArolcE BFEVTEITE T, 5 LT ESE TBELEhEEEL,
17T | ERER—F M5 X 6% K10A K20A K10L K20L
I 3AX10 (N Y H15F) I sk sy | NG L A L)
(%) MBERBES G —DOTRZ - TL—MSHLTY— b TL—b (A) ERURUER BN BEREETHY. 855V —)L- TL— @) EERLLED (A) & (B) LOMBEREEERT LN TIE
TEVERA, CR)BENEIGMBBREERTHDNTHY. FEZDEDIERENED D T 7 A S ol dBIB T 5E TRINE T, BT AP101 AP102 AP103 AP104 AP105 AP106 SP101 SP102 SP103 SP104
A 3 PCD 315 60 56 315 60 56 315 60 56 315
AP N .
s HILTE il EVIZ N 78 M5 M5 M4 M5 M5 M4 M5 M5 M4 M5
MBERHE IR 2X 5H7 $5H7 2X ¢ 4H7 $5H7 $5H7 2X ¢ 4H7 2X $5H7 $5H7 2X G 4H7 B5H7
oHy PRRAT v— P o T A aO—& ¢ 12h7 $45H8 $62H8 ¢ 20h7 $45H8 $62H8 $12h7 $45H8 $62H8 ¢ 20h7
»3HT®ES PCD4O ,_,J/\./\l-‘_’ Ry b75YY 1rO—|&. BE BE 3mm FE105mm FE 8mm BE 3mm ZE 10mm FE 4mm BE 25mm ZE105mm ZFE 3mm ®E 2.5mm
2;@33 S%) PCD40 ™ 24 ﬂfwrmlﬁﬁﬁ7V¥r ,ﬁ{j’tﬁn
P, <Cu i ‘ .J- CERCER +ﬂ‘*\1—?35‘7w M5X10(47%) | M5X15(47) | M4x10(87) | M5X10(77) || M5X30(44) | M4X25(874) | | M5X22(44) | M5X25(47) | M4X20(84) | M5X18(7 %)
[ N iy T — -u—; —ll; oty VREAR SN MSY5-15(125) | MSYS-15 (1) | MSY4-15(125) | MSY5-15 (1) | | MSYS-15 (1) | MSY4-15 (1) | |MSYS-15 (1) | MSYS-15 (1) | MSY4-15 (1) | MSY5-15 (14)
A\ j @ arveve 945HT BRTFEY
A ”QK \ BATSES— b BR(ESI Y57+ F oy JHME PR, 2 4mmOMBTEESE UINTELTEED, - oG T )
2 < M3Z5 To R, FRAAR] OfE TAIBMITE mm)] v-—w7u—tOCER = #979g(AR s #994g(R UM TABE)
m ™ - OV v/ &% ¢ 3COAMKHHHE 2. 5%0. 1 B @ALTELY 5 L~ e #1719 #71689g #7130g : ® #2719 #2049 #1369 #3089 #2299 ) N
29529, LXM3 (7o b RER) 83§§§§Z§8?T§”§fii‘%§% 4 520, ] o (RIVE - EVEE) #I680(R)LIAZRES) 83gURIVEES)
I -
- —thh | vouzu—s EERmTRfEnTORY)
e N% %035 WERTHE]
94517 o ( %030 ovyy
[ 1 - . {—— . (AS568#026) - .
oo g E@€ X 473> ORy bR T L~
Fy—F IRTA==0 = 3 S AR TL—F C-IOB -M- -
e g 2t Q Oo0m i
= m - - (QC—10B-M-K104) 2‘-7’73/
pe—=jg <~ o of EmEze QC-10B -T- [0
[ ve0 Nvs717902 A | BsEE mL AP101 PCD31.5 1 »O—#&¢ 12h7
38 SAX10% Cr7ED N KI0A | BEIES 10K(\VHBT) AP102  PCD60 >O—f2p45H8
y—wFU—
= = (QC—T0B-T-K10A) K20A | BEIES 20K (U \VHIEF) AP103 PCD56 01— ¢ 62H8
23888 KoL | BEIES 104 (U— FgImHL) AP104  PCD31.5 A>O—F¢20h7
= - KoL | B&UES 204 (U—FgimiEL) AP105  PCD60 > O—E45H8
3] AP106 PCD56 1 >O—1% ¢ 62H8
SP10IN(P) PCD31.5 1 >O—&¢ 12h7
¢GHT#S PCD4OQ SP102N(P) PCD31.5 1 >~ HO—#%¢$45H8
(=) SP103N(P) PCD31.5 1 >O—7%¢$62H8
4xMBG®ES PCD4O Gl >~ O—%
LER @~v24 - FU—biTld. MAAFXVE (RERMEV M3 X25) A&, .SP1?4,N(P) »~PCD3154/,D5 E¢2Oh7f_, AN
$25HBHE BAEAYY MSY3-15) 1848 LTH0ET, HSPY) —RIEHEEL Y MRFEDHEZVE T BB TORFTISTEVELA

85 i R FRLTH0ES, . #SPYU—ZECHRDBAE. A FHIENE PO S BRV L L
(MizQC—10B-K10AKRTHER) @MU F v F DBERRELGARET. TmmTYd, (Y—w7r— MMEADES) N:chgﬁjjg PP
P=t> PNP



G QUICK-CHANGE®

NEW!

Robot Interface Plate

for QC'IOB

D QUICK-CHANGE

4xM57R)L IR
4%

2x¢5 HT:@
2%M

2x P5HT through
2 equidistant

R 4 holes for
20", 25° M5 hex socket bolt
4 equidistant

@5 HTZE10

@45 HT3E10.5
®45H7 Dp10.5

4xMB5IR)L R
4%

4 holes for

M5 hex socket bolt
4 equidistant

©49
) P72
10
e ©
Master plate 05 N
(QC-10B-M-K20A) 0 | H R @ N c 05
-- ; TR
b g ® 3
p[9 °
Load capacity (rated load) 98N (10kg)
Positional repeatability 1 +0.01mm ®50
Allowable ‘ Bending direction (Tx.Ty) | 49N-m (500kgf + cm) #50
dynamic moment ‘ Twisting direction (Tz) | 68.6N-m (700kgf + cm)
Coupling force (with air pressure of 0.49MPa) 2 970.8N (99kgf)
Materials ‘ Master plate Stainless steel
. ‘ Tool plate Aluminum alloy (The lock/unlock mechanismis stainless steel)
Overall dimension (when coupled) ®50XH38.5mm AP1 04
N Weight ‘ Master plate 2459 m _
. Tool plate (vin dody) | Tool plate 859
N (QC-108-T-K20A) Self-separating mechanism Ball-locking mechanism . -
Required air pressure 0.39~0.68MPa (4~7kgf/cm?) 2x P4 HT@ g%‘/‘gé‘ml’ hRR 7xM53R)L MR
Allowable temprature and humidity ranges 0~50°C. 35~90% (Non-condensing) g%gflw X . 8 holes for S%EEEF‘;'IF)?
N X througl 7 holes for
Yilliiee incumaticpor- Ml M5 X6 2 equidistant 225° :;"‘: hjg;;iktet bolt M5 hex socket bolt 55 HIZ10
8 equidistant 205° 22 50 ®5H7 Dp10
7 locations
\
o o
62 HTES
®62H7 Dp8
©49
269 ™
f | -
wn
2 -
0.5
Yo 05 @ © f_% ° @ 0
16 8, TG é
Type AP101 AP102 AP103 AP104 0 &"J 5 o 0
PCD 315 60 56 315 ’ e
Bolt size M5 M5 M4 M5 80
Hole for locating pin 2X ¢ 5H7 ¢ 5H7 2X p4H7 ¢ 5H7
Boss size $12h7 b 45H7 B62H7 $20h7 *#On installing AP101,102, and 103:0n robots and AP104 on master plate,
all 4 plates are invertible by 180
Boss Height or Depth Height 3mm Depth 10.5mm Depth 8mm Height 3mm
Accessories M5X10 (4 pcs) M5X15 (4 pcs) M5X10 (4 pcs) M5X10 (7 pcs)
(Bolts and pin) MSY5-15 (1 pc) MSY5-15 (1 pc) MSY4-15 (1 pc) MSY5-15 (1 pc)
M BAN GROUP 3-17, Meiwa-dori, 3-ch H ku, Kobe, 652-0883, J
Weig ht 799 ( Bolts 7pCS ) -1/, Melwa-aori, 3-chome, fnyogo-ku, Kobe, = , Japan
- : 719 639 1309 TEL +81-78-682-2612 FAX +81-78-682-2614
reing s [B1) Bl. AUTOTEG,LTD. +
(Including pins) 68g (Bolts 7pcs) kBIﬂ - [ ] (] URL : http://www.bl-autotec.co.jp

G Bl. AUTOTEC,LTD




